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oV NVINIVTN NN VN _N AT00 YT NXMIVN NNN ,DIXRIN DXPYONND THNX 951 (7)

: NN NIV

L = i i=j+l 1 i=j=1 (@
"o AR @, =in i=1j=n L )0 =izl
0 nanN Yol i<j
-] i>]
11 1L 1) (6 111L 16 a”:{z =] (4
13 3L 3 1221L 2 TnN
13 6L 6 12 3L 3
MM MO M MMMO M
136 L 30n-1 12 3L n
a i=j (7
a,={b i=j+l
c j=i+1

:N¥mY a=3,b=1c=2 > NN .2.n0HRIOTN NIY NPDI NNDN RN .N (7 Pyoa *

.N=209YN5 NVINIVTI NN .2 .NVIPHIVTN Y IND NV .1

:2vN (8)
a b ¢ d e a b c d e
f g h i |j f g h i j
k Il m n o+ k | m n 0
p g r s t P q r S t
2a+1 -2b 1 x yl |-a-1 3 c-1 d-x e-y

:avn | Al=4,|B|=2 , 379700 mM$M0n B - A oM (9)

| 2A’A"adjB| (4 |-A°B'A’| (3 |4A*B’| (2 |ABA'BT| (1

JA|=|B]| :nomn (PQ) ™ APQ =B : 1) .N (10)
JAl=2 , 2AB+3l =0, 49700 nm>an mxvn B -1 A :omm .2
.| B| nxawn
A+3B=0,B*-2A" =0, 377onmaonmivn B 1 A omm )
J Al |B]| :nxawn
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=

=A™ 2 |AT= 1:nomn T

- |adj (Av)

>

J Al=0 -w N2 TR ATON NIVVIDIVIN NIV A D PN 1N

N ANNYN . 2AB =BT A* | |A|=128 , n 7Ton nvn A oM )
.det(% B”Az”j :awn . det(A,, ) =2, det(B,,, ) =1 :0mm 3

9997 Y95 NIV MININ MNNVNIN MOIWHN DX NN (11)

X+2z+5t=8 (3 Xx+z=3 (2 x+2y=5 (1
—2X—-6y=-8 4x+y+8z2=21 3X+4y =11
5Xx+3y—-7z+4t=5 2x+32=8

2X+5y+44z =51
: MINNWHN NOWN NN (12)

Kx+y+z+t+r=1
X+ky+z+t+r=1
X+y+kz+t+r=1
X+y+z+kt+r=1
X+y+z+t+kr=1

TR PN NOIWNY K YW TIY NPN MY X

1
X = > 12W TN PIND NOWNY K YW Ty NN My a2

1
X = g 1AV TN PNIND NIIYND 1N1Y k O»P ONN D

X=Yy=z=t=r N15N2 IR TN NINI NIIWND DXV NN .7

AT AN nmI adj(A) mPYHPN NTINSN NN AWN MININ M¥IVNIN NNNX 95 N1Y (13)

2 4)\@ 2 1 1)(2 A_[l 2}(1
-1 0 A=[0 2 -1 3 4
1 1 5 2 3
-1 -2

=T S =
w NN D
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-9
13
A= T71
17

2

26
-7
35
2
0

-1 14 10
87 4 O
3 0 O
0 0 O
0 0 O

I (14)

(A1), @ (adiA), (@ :avn

03 DN A MDN Y NN, D5W DM90N DN A MR | A|=1 DRW NN X (15)

.DYNOY DN

NN OUWNWNR AT -w NN .NDDM NINNN TPWNIWN NHI0N A-w NN .2

an AT on adj(A) 0w NN .10 A-w P )

mon Ny C,D .mo>on AB .7

tAB(5 CD(4 AD (3 A+B (2 C+D (1 :m>91 mxan mxvnn orn

: 112970 N9 NINAN NYIVNN DM K 197y NN XN (16)

4 0 7 5 0

0 0 3k O 0
~7k* 2 4k k 9+k
30 4 2 -1

-5 0 -8 -3 2

S PTIPTIPY 1P9°2pNN NOW NX 2WN .N (17)

.(=1,0),(0,5),(1,—4),(21) .2 (0,0),(52),(6,5),(116) .1

.(0,0,0),(1,0,-2),(1,2,4),(7,1,0) : y1pTpw No2apnn N9 NN IWN .2

.(3,3,-2), (-1,3,2), (1L1,—1) :mymP3n TIT 2N NI INNVHD N¥D .)

.(1,2),(3,4),(5,8) : vmpmpw vowNN NLY NN YN .7

VINPIVTI YHNYND TOY N HMNINL DXYONN THN D1 : NN
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iMIVYN

.9(10 .-300 (9 .234 (8 .24 (7 -14 (6 -3 (5 -1 (4 .-1 (3 .29 (2 .ad—bc (1 (1)
6 (3 114 (2 120 (1 (3) .104 (6 44 (5 .24 (4 .3 (3 .0 (2 .0(1(2) .6(11

n(3n+1)

(D) 2 =Dl onl a9 (3 16 (2 -8 (1 (5)

232 (6 .1 (5 .(a=b)"'[a+(n-1)b] @
.D,=aDb, ,-hcD, ,,D,=a*-bc,D,=a’-2abc .x (7
24 -8 (3 2B (2 4(1(9) 08 .D,=2"-1.2 .D,=2""-1.11

x=lLy=2 (1@a1 .4" 5 .7 . .|A=18,|B|=-2/3 .» .81/32 .2 (10)

k==2 2 k=l k#-4 x(12) .x=y=z=t=1 (3 .x=1Ly=12=2 (2

NY D)
1 -3\(2 4 -2)\(1@3)
| 8 19 adj(A){ j
adj(A)=A'=| 5 1 2 -3 1
-10 1 4 L (-2 1
Al=
15 -05
7 -10 -20 4 7 10 20 -4\
2 3 6 -1 2 3 6 1
A= , adj(A) =
3 5 -8 2 3 5 8 =2
1 2 3 -1 1 2 3 1

k=0 (16) p (5 XY (@ NY(3 .NY(2 .NO(1(15) .0.5 (2 .240 (1 (14)

2.7 3X—y+4z+2=0 » 22 .2 .14 2.x .13 .1.xX (17)
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D999 ©%aN9N - 4 P9

3 =02))234")
. R »wnnn n7wn Syn n1monn o»wnnn 0MvpIn 9o S omopin aninn - R"

R >wnnn nTwn Syn N ATon nenaan myonn 95 Svomopin annn - M [R]
"R nTUn Syn n -5 mv Ik mvp noynn oM 93 SvHrmopin annn - P, [R]

R n1wnoyn (f:R = R) nvwnnn npspnan 93 5w rnopin annn - F[R]

DN -NN

: R® 5w apmn nn W DA P1T1 DININ DIDYOIN THN Y91 (1)

W ={(a,b,c)|a+b+c=0} .x

J

W ={(a,b,c)|a=c} .

W ={(a,b,c)|a=3b} .

94

W ={(a,b,c)|]a<b<c} .

a

W ={(a,b,c)|]a=c’} .n
Jomavn Mo omimn ¢ Y b ,a amvo W ={(a,b,c)|b=a+d,c=a+2d} »
monnMTo o ¢ b ,a mvo W ={(a,b,c)|b=a-q,c=a-g°}

: M, [R] 5w anm nn W oxn 9172 ©KIN DX9¥0NN TN 931 (2)

W ={A| A= A"} 7m0 on MHIvnn W am W X
. B nn1 n¥vn oy 951 mabnnnn mxvnn vonacm W a

W ={A| AB =BA} ,7mb>
W ={A|| Al=0} , 79995 .09 1YY NVIPRIVTIYV MXMVHNN YN 1M W )
W ={A| A* = A},7m595 J05W 11279 TwY M¥Aonn Yanacsm W T
NPYY MYSWN 1Y MNIvNn 9on aom W .n
, 90 . 0aN NI B nmd n¥vna ynvaony msonin von aovm W

W ={A| AB =0}
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W ={A]| tr(A) =0} ,9mY5 .09% 1DV NApYNIY MNIVNN Yon 2157m W 1
JDON NIN NIVY DD DI 1NAW MNIVNN oM 157 W .n

.P,[R] 5w anmn nn xn W oxn pY72 ©XID ©9¥0NN TAR 991 (3)
W ={p(x)| p(4) =0} ,71m55 .v1w 4 oy2 DN N 159mM W .X

DYV DNTPN YOYa DIMPNON Yon 1o W .2

W ={p(x)| deg(p) <4} ,7m55 .4 > nbyn 5y 0NN YoM 159 W .
. X DY 1202 DY MPIN MDY DMIPNON Yo M W 1
A<Nn<T7 AURd N NoYHNn 0NN Yon acmm W .0
W ={p(x)| p(0) =1} »
.F[R] 5¥ anm nn xn W OxD P1T72 DIRIN DOYONN TN 933 (4)
W ={f(X)]| f(=x)=f(X)} v X 535,955 AN NEPNON Y10 159 W X

W ={f(X)| |f(X)|<M}ounn X 935,955 .MmoNn NPEPNen Yam 251m W .2

MMNIN NN YN M W )
DN NPIPNAN Yo M W T

AP NPSpNon Yo acm W .0

1
([0,1] amoaorx f -wnn) W :{f(x)” f(x)dx:4} )
0

(x99 nrn f-wmmW ={f(x)| f'(x)=0} a
Ax 9 f-wmmW ={f(x)|f'(x)=1} .n
W={f(x)]f()=f(x+D} .0

:C® 5w anmnnxn W ={(zl,zz,z3)| 2,=7,1,=1, +Zl} ONM Y72 (5)

. R »wnnn nTvn Syn .8

.C 0monn nTw Yyn A
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NYINIY MIN ,YWID) 3NN ,DINIY DI

: DYNAN DMNVPIN ONN) (6)

v, =(4115),u,=(0,11,-5,3) ,u, =(2,-531) ,u, =(1,3,-12)
TU, DYUOINRDD PP NI U OND L1 .N
1Sp{u,} -5 v U, orN 2
! IPINDY YN {U;,U,} N8IPN ONA .3
T U, 5 Uy DY OIRDD PPN NI Uy DN L1 .2
1 Sp{u,,u,} -5 v U, oNn .2
N¥1API NOPY YD DIVT 12 NTNR 2 TIPS IR {Uy, U, U} N¥1IPN DN .3

.DYINNN DYNVPIN HY MINDY N PND

T U, -) Uy DWOINDD 91PN NI U, DN .1 )
1Sp{u,,u} -5 v U, oNn .2
NX12P2 NOPY Y DIVT 121 TN T IINPY TIYN {Uy, Uy, U, } N8P ONA .3
.DYINNRN DINVPIN TV OIINDD NIPND
v=(4,12,k,-2k) ym .7
T U, =) Uy DY OIRDY VPR T V NOPINY TN Y K Sw 15y nvnd PN n .1
SSp{ug, UL} -5 v i v oy nmn by K Sw oy nond pasin .2
JPINDY NN AN {Uy, Uy, V] N¥Ipne mn Sy Kk Sv 157y nnd s nn 3
v=(a,b,c,d) ym.n
T U, 5Y U DWOIRDY DYV MOpINY mn Yy a,b,c,d by ooxonn nn .1
1 Sp{u,, U, }-5 Y v mupinw mn vy a,b,c,d Yy ooxonn n .1
T IPINDY 9N 7N {Uy,U,, V) N¥Ipnw n Yy a,b,c,d Yy ooxomn nn .1
JUg YU, , Uy DY OIRYY 9YNd (2,-3,3,1) Mopin X yan )

T IINY MVYD 1N ONN NN
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DMNN N2, U, =) Uy, U, , Uy DV IR gy pyd (7,10,-2,11) Mopin nx yan .3

7 INY MUYY 1)

: DINAN MNIVNN MNM (7)

4 1 0 11 2 -5 1 3
A= , B= ,C= , D=
15 -5 3 3 1 -1 2
-M,[R] 5y max»5 nymbn mxdvnn oxn pITa .1
NINIVNN AN DY IINRDD GIPND MNIVNNIN NNN DI DIV NMON MXIVNM NN .2
1Sp{B,C} -9 n>»w A n¥Monn oxn .3

: DYNAN DINDIDN DMIN) (8)

p(X) =4+ x+x*+5x*, p,(x) =11x —5x* +3x*,

P,(X) =2-5x+3x* +x°, P,(X) =1+ 3x — x* + 2x°
B[R] 5910 7800 050 03091910 oD 1A .1

DV INDY 91PN DIIDIY U DY TIRDD DMON DI NN .2

DN INY
1Sp{p,, P, -9 TPV p, DWI9N DN .3
: TPINDY DMYN DONRAN DMNVPIN a,b,C HW DY PR XINY (9)
{(c,2,4),(2.4,a,2),(c,b,6),(b,2,a)}
NVIF] -2 moaned nmononba {u,v, W} DNVPIN NXAP D PN (10)

NP NOPI DI DIV PV DTN, TPINDD NMION MNIN MNIAPN ORN PITA

: DINRN ONVPIN DY

{u—v,u-w,u+v-2w} .x
{u+2v+3w,4u +5v+6w,7u+8v+9w} .2

{U+v,v+w,w}
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C® -amnyy o0 {(Li,i—1),(i+1,i-1,-2)} o>opin oxn T (11)

RYyn.2 .CHyn .N

719919 ©’02

2771 002 AN DNV NXIP ORI P72

: R® -9 0012 jn mxan msapn ox p1Ta (12)

{®%0,1),(0,01)}(1
{(1LL2),(123),(3,34), (221}

{®2,3), (45,6),(7,89) 1}

: M, ,[R] -5 ©02 0 mNan Mm¥Iapn ON PYTa (13)
la S5 a)Ge o)
; , (1
3 4)\7 8)\2 3
1 2)(5 6)(9 1)(5 6)(5 16 )
[3 4}(7 8]’[2 3)’ 7 2}’(7 8] (
o a3 2 2]
' 1 ! (3
111 1){1 1){0 1

: P,(R) -5 ©oa )0 mxan mxpn ox 71711 (14)

{1+x x*+2x+3}(1
{1+X X*+2x+3,2x+4x°, x=x* } (2

{1+2x+3x% 4+5x+6x°,7+8x+10x*}(3

T = {(1,2,3), (4,5,6), (7,8,9),(2,3, 4)} : R®-2 oop) nsvap nnms (15)

.R* 501 T oxn X
LT -2 70R9Y 91 YN DNVPI HY NPOOPN NP NNV, T' NP R8N .2

Sv 002 T' nX DHwN )
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DOIMRNT NINVRA NDIWH W NINND 2R TR 2902 ININR

DI MRNWR W Mawn 3 72195 (16)

X—y+z+w=0 X+y—-z+2w=0
X—y+z+w=0
(3 {x+2z-w=0 (2 {3x—-y+7z+4w=0 (1
2X—-2y+2z+2w=0
X+y+3z-3w=0 —-5x+3y-15z2-6w=0

(1 MINNWNN NIV Y wI9IN anINN IR W -1 100)

2 MIRNYNN NN MY YN anINN IR U -1 190)

(3 MNNMYND NOIYN 7Y YN ANINN IR V -2 101D

VAU, W-59mmooansn (N
UNV SSmomusn2 . UuV -Stmmowansn (1 (a

UNV -Sooansn O

U-5mmmooansn. U ={(a,b,c,d) € R4|a:c,b=d} N (17)
U-5mmmooansn. U :{(a,b,c,d) eR*|c=a+Db,d :b+c} N (18)

U-5mmooansn. U={veR*|v-(1-11-1) =0} nm 19

U-smmmovansn. U= {Ae M, ,[R]| A= AT} 1) (20)

1 -1) (0 0
.U-b‘mmmmum.u:{AEMM[RH A-(l 1]:(0 Oj }nm (21)

U-5mmmooansn. U :{p(x) € PS[R]l p@@)=0 } N (22)
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2772 NN AR DT NRIEN

. R* ap 1m0 5w 030 n >nn »w 059 (23)

U =span{(1,1,-12), (3,-17,4), (-5,3,-15,-6)}

V =span{(1,-112), (1,0,2,-1), (1,1,3,-3), (5,1,5,8)}

U D minnwm 1m0, 9702 R8N LN
VOS5 e mn, 902 R8N A
U UV -5 10m 902 Nen )
UV -5 1m0 o0a xsn 1

: M, ,[R] annn Sv an n nn 05795 (24)

1 1 4 1) (2 -1
.U =span , :
-1 2){-11)\1 -3
U -5 1m oo Nsn
: B[R] anmn Yw ann nn 05295 (25)
.U:span{1+x—x2+2x3,4+x—x2+x3,2—x+x2—3x3}

U -5 70m 902 Ryn

NNIVN NMHIT,NNIVN DY DTINY ANINI DN ININD THN) DD NNONN

THIT DX PN MININ MNIVNT FW DTINYN AN NNV AN THNI ©I02 RN (26)

: (rank) nx> VNN

1 2 1 3 5)\(2 4 1 1 5@
2 5 3 1 6 0 11 -5 3
1 -1 -2 2 1 2 -5 31
2 3 5 -4 -1 1 3 -1 2

002 MY MOVTININIP YN0
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: R® v o001 nv o) (27)
B, ={110), (0,10), (01D}, B,={(101),(011), (0,01}

. [v]Bl -1 7% VP I . B, ©025 DY MOUPTNNIPN NVPI NN NN .N

[v] -2t MO 0D . B, D015 DR ML TINIPN NOPI NN XN .2
2

BZ
.[M ]Bl -1 7% N¥IVN O . B, 0015 B, ©0271 1230 NYILVN N1 )

B
.[M ]Blz -1 N¥IVN D . B, ©015 B, ©0INN 1Y NYIVN N8N T

:DININ NNYLN X IYUN .1

M1z -(IMIg, ) B MMy =Mg @ MIE Mg Iy @
g ~|\(Mlg, g [V, =g g, Vg, =1Vg,
: B[R] v o001 »v o (27)
B ={1+X,X, x+x*}, B, ={1+x*,x+x* x*}
. [v]Bl -1 7 MOVPY 9D . B, D015 0N MOPTINIPN NP NN NN N

[v]s -2m¥ 90 100 . B, 97025 DRXA MLPTNRIPN NOPI NN XN .2
2

B
.[M ]Blz -1 N¥IVN D . B, D015 B, ©0aNN 1ayn NYIVN N8N )

: M,L[R] bv 0002 »v 00mn3 (28)

o-{5 6 6 D6 )
{6 6 6 I 3

. [V]B -2 77 MO D . B ©025 012 MOUPTNNIPN NOVPI NN R8N X

. [V]E -2 73 MO D . E 9025 DNY2 MOV TNINIPI NVPI NN R8N .2

E
M ] -3 nw om0 . E 9039 B 920305 1250 n¥9Ivn X¥p )
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9949) 11999 NPYA NI :2INIY 1IN - 5 P99

sNOIMYT

MaxZ = 3X, + 5X,

s.t.

2X, +2X, <8

4X, +X, <8
1mp 8w mTnen 12on— X1 3X, =9
2981010 1Y MR 190n— X; XX, =0

NNWN DY IDNDIVIIND TIVN NN AWNI MIWON DINT LVLIY .I397) IPINA PYIN NN NN
SIN2IVN NN PR 20N .NIVNN NOXPND DYV NVINNN

11 NINY

LDNYTN DY) DIDIND DIYD : DIYAID IND 2 18»N YN

V20D 4 DNYTRN DOYON DY IDINI YO0 @ 5 NN DIININ DIYIAIDN HY NX»N MDY

2 10-2 DYONN TON DD NN 191 Hyann

TAN D9 DY MY T2 5W DVN 2-2 TNX W DIINON DIYAIDNN THX DI DY NN

30-1 9100 T2 YW DV 40 HYINN YW IMWIY . T2 DY DIVN 3-2 TN W DINITRN DIYAONN
.DYIN T2 5V DVN

.DOYAND MNYN DOYAION NEMY @ 100 MSPNY 1919 Yyanin Hmn

LDNYTN DY 20-H TN AT PV INNX NI ,q0N2

DMNPN : DINNND MINODY PNION DTN NI 7PYAN NN NON NVYNN DNWN ITHIN N
SIN2IVN NN P9 7207 .DINIDINY NIV

TN NN 2AYNI VAN DIND LVLIY 297 IDINT /N PYDI NNDNY YN NN NS .2
SIN2IVN NN PR 201 .DI0NN NMEPND S NVINNN MINYN DY OINRDIVIND

[

SIN2IVN NN PPN 120N 10NN DY DMINITN DIV ONN

SN2IWN NN PRI 1201 .NI0HN NOEPNL DNTPHRNIN TN 92 Yy DNDN KN

O

=]

SIN2IVN NN P9 1207 .OINDIND DI DY PN QN DY DMIDN N8N

MNTD DNN .IVND @ 2 NN DIND T2 71D 10 1NN WIDTID Wpan Syann Hmm Y 1an
.ANI2 MPYN NX VN )0 ON 120N XD ON 111D01nY DMnd

-

NNIN DY 727N YOV OXN .OVTN T2 /1D 15 DY NIDN NINRNPN DR Hyann Hmn - 3
SNNMT NMNOI) NN MNIPYA NN 2VWN )0 DN .I101 ,XD DN 1991010
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12 NINY

60 ,A PRV YW N> 120 ,C PNV N 60 NMINAD DIWITT NNOY PMIYN NNOVY NTH NIYND
Epnon Hw i 210D pnon b

: DY 0221597172 DXPNVLINT MND NYIIR NN DIDIINN NI MND NV P NN ONDMP

E D A C
35 15 20 5 1pm o
21 15 15 30 2Mn o

NNMON MND NMIPY PN NNOY . 6 NIY 2 PNIN NON NP 1PN 5@ NDW 1 )0 N0N NP
MDY VT MO TINYD NN DY 57N PNINN INON

MNPND : DIRNND PIND NION ITIN NINYA 7PYIN NN NDIN NVINN INWN ITHIN N
SIN2IVN AR PN 92070 0NN NIVN

TN DX AVUNM PIVIN DINTD VLY 299) I9IND /N PYD HNDNY MYIN IR NNS .2
SIN2IWN NN PN 1207 .NI0NN NONPND DY NVINNN NINYN DY OINDIVIND

SIN2IVN NN P9 120N TDINDIND DY OOIRYTH O¥IIYN DN )

STNIVN NN PN 1201 .NIVND NMOXPNN X1 YV OTPNRN DY DNON NN T
SIN2IVN NN P 9207 .OINDINN DI HY PR GIN DY DNON RN .7
13 NINY

79 NIN (00N PON IN) 19D NN WPWND 1w @ 900,000 TON 'DONXIVN P32 NMPY
: INAN MYV NMMNIVOND 2 NN 179 W ORPIAN .NXDNN NYAPY YW OWIND IRPILD

IV ANY NYpYNN PraN
30% nym
20% NN

959 NN WPYNY PINYN NI, 1D .N7IND 400,000 NINSN DI WPWNY PINYN MPOHN
NN YPYN RINY DIZDNN I8N INPN

DMNPNG : DINNN MINOY PION DTN NITYA PYAN NN NN NVINN NNV ITHIN N
SIN2IVN NN PN 207N .DINIDINI NIV

TN NN YN VAN DIND LVLIY 297 JIDIND N PYDA NNDNIY YN AN NNY .2
SIN2IVN NN PR 201 .DI0NN NMXPND S NVINNN MINYN DY OINRDIVIND

SINIVN NN PPN 1201 10NN DY OMONYTN DIV 0NN L)

SN2IVN NN PR 120N .NI0NN NMEPNN X1 HW DTPNN DY DINON N8N T

SIN2IVN NN P90 1201 .DONDIND DI DY PN PN DY OINON RSN .

NN DNPY MPOYOINTI ONN .20% YW NP2 IXNON D NNY PINYN NMPON SV Man )
,/W 100,000 ¥ D120 NYN NIRNDNN OX NNINWN IRNINN DID0 NN TY IIRNONN
MYPYNN OPIANN TN D21 WP NMPOINY G0N DIFD 1NN NNI MWD 7P NN

MPON YW Y5100 INNT MINY T899 ,60%-2 D73 NN NYPYN MNIY MNIN DX .3
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14 NHNY

N1 OMIP NP N .M 9 NN DXIIP OND 2 HYHOUTIN ONRIN NYIIT MV NN
NOMNP NN 1PN 71 0.25 190 (DN DIPY DT DIP , 019X DIP 9N DIP ND¥INN) N
,NNN DN (D29 O N1YIN XD MN N2 DMIPN NONP) 971 0.2 1D NN N2 ONIp
@ 200 11 D) N2 DN NONP YV NINN 1991 NINIVIDA DMDIPN NN NP DNV
9917 YNXINY (AN MIP> MNN NPINN) @ 400 17 MIN N2 DMIIP NONP DY NPNN DN
AP PPN 2.5 59 M) NN NN NONP YD

Sv Y915 DIFD NYWIIIY DIXPN NIN .DMDIP DY MINTN YNIY DNXINY VIDNN PINND YTIN ND>NNA
NN DIPNRN .NNNY MNRDNPN DY DN NDIN D PADY 191 )PUN 2101 1IN . 50,000
971 30 )10 NYIND IMRYNI IION NNPN

SV YO PONN NX DAY XIN,0MIP DY NRDN KD RONP PHRIND VYN IR NN
DYV 1901 NPNY 2NN XY PRI RINY MIXDNPN 1900 YWD .RONPN

2971 NI OMIIPN 29NN MY ORI WTINAIRINNN 70% NN DI5Y VIYNN HNINY 90N

SYUTIND NNIN DX DIPOPND NXANY 11V HNINY
TMNPND : DIRNND MINY DN ITIN NIIYA MYIN DX NDN NVOND NNYN 1IN N
SIN2IVN NN P9 72070 .DIIDINY NIVND
TN NN YN VAN DIND LVLIY 297 IDINT /N PYDI NNDNY YN NN NS .2
152PNNN PN TNPN NN .NIVNN NMNPND KW NVINNN NNWN DY OINIDIVIIND
SIN2WN NN PN 120N
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2 P9 NN

:1 DNV PINS
N

Max Z = 5X1 + 6X2
S.T.

1) 2X1 < 40

2) 3X2 <30

3) 5X1+4X2 < 100
4) X2 <20

X1,X2 = 0 ondowm

1) 2X1=40

2) X2=20

=]
]

2) 3x2=30

3) 5X1+4X2=100
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. 120 M0 Hyann S NN .10

.0,1, g , 0 : DXINN HY DYHNYTH DIWND )
A4<C; <0, 0<C, <75 7

.00,10:4 YK .140,40 : 3NN .60,0 :2X\)¥N . 00,24 :1\IDN .D
229150 NNIY @ 20 DY NADIN ONTY )

NI 8§ NN N HYINNY DIINON DOYION TN . 10 -2 DT HY9HdN AN 3
.15 150 9% SYaNNY DTN DXYIION

-2 10070 URDD NLIDA XON NN
© NSO NOY — AN AND


http://www.gool.co.il/

35

12 NYNY PINS
N
Min Z = 5X1 + 6X2
S.T.
1) 5X1+ 30X2 = 60
2) 20X1+ 15X2 > 120
3) 15X1 + 15X2 > 60
4) 35X1 + 21X2 > 210
X1,X2 >0

1 1 1
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:3 DONY PINS

N
Max Z = 1.3X1 + 1.2X2
S.T.
1) X1+ X2 <900000
2) X2 = 400000
3) X1-05X2<0
X1,X2>=0
A
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14 DNV PINS
N

Max Z = 300X1 + 600X2
S.T.

1) 200X1 + 400X2 < 50000
2) 0.25X1+ 0.2X2 <30

3) 0.3X1-0.7X2<0
X1,X2=>0
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